Addition /Soustraction de Décimaux (A)

Calculez chaque somme ou différence.

76,56 + 1,5 = 87,2 — 1,32 =
82+33= 9,3—3,32 =
82,6 + 5,44 = 58,6 + 24,3 =
36,36 — 5,72 = 89,1 + 56,51 =
50,7+ 9,8 = 45,7+ 4,7 =
8,6 +3,4 = 42,2 +8,82 =
26,17 + 9,6 = 66,78 + 8,67 =
49,18 — 2,82 = 83,28 — 7,29 =
47,81 — 1,43 = 82,31 — 58,62 =
36,5 — 29,2 = 5,8 — 3,8 =
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Addition/Soustraction de Décimaux (A) Réponses

Calculez chaque somme ou différence.

76,56 + 1,5 = 78,06 87,2 — 1,32 = 85,88
82+33=115 9,3 — 3,32 = 5,98
82,6 + 5,44 = 88,04 58,6 + 24,3 = 82,9
36,36 — 5,72 = 30,64 89,1+ 56,51 = 145,61
50,7+ 9,8 = 60,5 45,7+ 4,7 = 50,4
8,6+ 3,4 =12 42,2 + 8,82 = 51,02
26,17 + 9,6 = 35,77 66,78 + 8,67 = 75,45
49,18 — 2,82 = 46,36 83,28 — 7,29 = 75,99
47,81 — 1,43 = 46,38 82,31 — 58,62 = 23,69
36,5 — 29,2 = 7.3 5,8 — 3,8 =2
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